Subject: Re: Image division causes Floating illegal operand
Posted by David Streutker on Fri, 19 May 2006 16:11:43 GMT

View Forum Message <> Reply to Message

Is your mask made up of zeros and ones? If so, you are dividing by
zero in all of the masked pixels, causing the error. Because you are
already masking the numerator (partA), it's redundant to mask the
denominator (partB). Try using:

partA = (b1*coef[0,1] - bO*coef[0,0])*mask
partB = b1*coef[0,1] + bO*coef[0,0]

Alternatively, you could apply the mask to the NDVI image itself.

Page 1 of 1 ---- Generated from conp. |l ang.idl - pvwave archive


http://idlcoyote.com/comp.lang.idl-pvwave/index.php?t=usrinfo&id=5442
http://idlcoyote.com/comp.lang.idl-pvwave/index.php?t=rview&th=22752&goto=48747#msg_48747
http://idlcoyote.com/comp.lang.idl-pvwave/index.php?t=post&reply_to=48747
http://idlcoyote.com/comp.lang.idl-pvwave/index.php

